Algebra 1
Lesson 11.2A
Simplify Radical Expressions

irm-Up

(2) Solvex” +4x—7 =0 by completing the square. | (b) Solve x? +4x —7 = 0 by the quadratic formula.
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Simplify.
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Example 3. Multiply Radicals
Simplify.
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Example 4. Use the Quotient Property of Radicals
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Guotient Property

of padicals

Words The square root of a quotient equals the guetient of the square
; roots of the numerator and denominator.

Words The square root of a product equals the produet of the sgaare
¢ rocts of the factors.
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Homework

New: Pg. 723 #3-23

Review:
Solve using the Quadratic Formula.

1. 2x2+7x-3=0 2. 5x% —Tx=-1



